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Risolvi i problemi misti (addizioni e sottrazioni) Nome:
Trovail valore mancante in ogni operazione. Risposte
1) 74=34+7?
1
2 ?2+5=64
2.
3) 74+12=7?
3.
4 2=28+35
4,
5 83+5=7?
5.
6) 61+7?2=85
6.
) 27=7?-69
7.
8 73=7-18
8.
9 14-9="7
9.
10) 94-7=83
10.
11) ?2=54+37
11.
12) 61=66-7
12.
13) 2-18=40
13.
14) 2=96-3
14,
15 37=?+14
15.
16) 69-?7=42
16.
17) 91=2+19
17.
18) 98-3="?
18.
19) 2=87-4
19.
20) 2-11=24
20.
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Risolvi i problemi misti (addizioni e sottrazioni) Nome: Soluzioni
Trovail valore mancante in ogni operazione. Risposte
) 74=34+7 ) 40
2) 2+5=64 , 59
3 74+12="? N 36
4) ?2=28+35 . 63
5 83+5=7? . 38
6) 61+?7=85 . 24
7) 27=7-69 , 96
8 73=?-18 . a1
9 14-9=2 N 5
10) 94-72=83 o 11
11) 2=54+37 " 91
12) 61=66-7 o 5
13) 2-18=40 13. 58
14) 2=96-3 “ 93
15 37=72+14 5 23
16) 69-?=42 " 27
17) 91=2+19 . 72
18) 98-3="7 N 95
19) 2=87-4 N 83
20) 2-11=24 20, 35
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# Risolvi i problemi misti (addizioni e sottrazioni) Nome:
Trovail valore mancante in ogni operazione. Risposte
40 23 88 5 91
96 24 93 11 59 1.
63 86 58 91 5

) 74=34+7?

2) 2+5=64

3 74+12="?

4 ?2=28+35 6.

5 83+5="?

6) 61+?=85

) 27=7?-69
10.

8 73=7-18 11,

9 14-9=7 12

13.

10) 94-7=83
12,

11) ?2=54+37
15,

12) 61=66-7

13) ?2-18=40

14) 2=06-3

15 37=7+14

: Semplificato 1-10 | 93[87|80| 73| 67| 60| 53|47 |40 33|
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